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INSTRUCTION

There will be total 110 Questions all objective type of multiple choice only. Only 100 to be attempted.

Questions of (01) one mark each.
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There will be 110 questions, at least, out of which 100 will have to be answered, 10 questions

1.
(optional) will be on Rajbhasha. If any candidate answers more than 100, the first 100 attempted

questions will be evaluated.
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Ensure signature of Invigilator/Officer Incharge on answer sheet/OMR sheet.
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One third of the marks allotted for each question will not be deducted for wrong answer.
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6. Select option as capital letters in English alphabet like A or B or C or D.
SIS AHAAT S A ATB AT C AT D F AR et Fw F P 7w

7. In case of difference in the interpretation of the question in Hindi & English version the English

version will be treated as correct,
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1. A semiconductor diode is used as, 3{€dfcid SIS BT IUNT 34 UebR T ST &
[a] An amplifier, T TIAHBRR  [b] A Rectifier, T RFFH  [c] An oscillator T8 3R
[d] None of these, 378 § H)§ gt
2. A semiconductor diode has...., Us 3{e=fdd SIS N ... E1dT &
[A] One PN junction U PN S [B] Two PN junction, & PN W@ [C] Three PN junction, o7 PN
S [D] Four PN junction R PN Slag+
3. The unit of magnetic flux density is the: PPV Geldd] T P 3BT 0
(A) Weber, S8R (B) Weber per metre, SR TR M (C) Ampere per metre, AT Ufd e
(D) Tesla, &I

4. The equivalent resistance when a resistor of (1/3) Q is connected in parallel with a (1/4) Q

resistance is:, 9§ (1/3) Q &7 U WD (1/4) Q WRARY &b T Grerier 7 521 gl & o Fxgletet Wifdy
RSN

(A) 1/7Q B)Y7Q O1/12Q (D) 3/14 Q

5. Harmonics in transformer result in, JRHTIR 7 AT & gRUMRGEY..

A. Increased core losses, ®R gRA Al B. Increased LR losses, 2R g1 & gf
C. Magnetic interference with communication circuits, IR o ﬂ'@?ﬁu gxIay gfhe

D. All of the above, 379 q T
6. Normally generation of electrical energy is done in ------ phases., ﬁ?@ﬁgﬁf DI

I RO F AT 8

Al ®2 ©3 O4
7. What do you mean by unit consumed in connection with Electric Meter Reading?, f%aqa

HieR T & e T gud &1 Wi 518 T 3T0hT |1 a1y 2.

a) KVA b) KVAR c¢) KWH d) KA

8. The transformer oil shoultd be replaced if it turns--- (colour), Tf& THHTHR T I I&d o
BEGEESUSIRUELR )

A) Blue, 1T B)Black, ®Tdll  C) Brown, Y31 D) Sky Blue, 3{THHTH! Aiall

9. What is the use of transformer oil?, SRIBTHR Jd &I STIRT &1 82

A) Insulation, IR B) Cooling, 381 BT C) Both A and B A 3{R B GHI

. D) None of the above, 3798 I ®Ig Ta!

10. What is used for cooling of a transformer?, TIIH TR 1 &1 A & for foorepT v fovan

STl 82 _
A) Conservator tank, &P b B) Radiator, Yfgqex

C) Breather, 914 @ D) Core, PR

11. Unit for measurement of Polarization Index. %Fﬁa'f{UT JdhIH P AU F fog EEORS
A) Volt per second, Alee Uld 968 B) Mega —Ohms per second, AT-371 Uid Y68

C) Volt per rotation giee Yfd e D) there is no unit. ﬁ% 3$|§ el
12. Unit to indicate battery capacity is ., ST &M aRM 9 3978 8

A)AH B)KWH C)KVAH D) VH
13. The Battery Capacity increase if the cells are connected in, T 9l &1 3{T0¥ § o1 fa

ST 1§31 & e 9¢ ST ©,

A) Series, U0 4ae  B) Grounded, T3e8 C) AC Circuit, AC Tfche D) Parallel, HTHFIR
health of the battery. Hcthd I} ... AR BT

14. Sulfation is a indicator of ==---=-=-cen-=

LEEa

A)Bad, @18 B)Good, 3@T  C) Stable, ®R D) Superior, 9§
15. Unit of Resistance i =---=-===-=zemmm-  AfaY Bt W ®

A) Ohms, 314 B) Mhos, i C) Farads, PG D) Henries, 21

16. Ampere is the unit of ~=---=nmeemmceee-- TR 3t ECARE

A) Current, Hic B) Power, Wfdd  C ) Voltage, dlecdl D) Energy, RSl
17. A volt is the Unit of - dIce [Hgad! 3BT &

A) Current S B) Power T  C) Voltage @Sl D) Energy I



e BT ITANT AT & T fbayy g«

- : rement of el . ; ST

Sgﬁgeﬁﬁxﬁseﬁ ;g;‘ B) Current, Voltage, Resistance, e, Eﬂ?%\‘ﬂ l;rﬁmﬁ
(0)] Currer’lt, Resistance, <, Uy l?) Voltage , I:Ie:fl;tg};% g o, Ay

19. Unit of Insulation Resistance 18 ======"~ 3§é T mifer] C) Micro Faradas, e

A) Mega- Ohms, A 371 B) Milli Henries,

D) Milli Mohos, ERIREIE R uft i
20. In a circuit, the Ammeter shall be connected in =--- P dfdhe H Y Eal 51V a
: SEURI D) none of these, TTH & B1g g

A) Parallel, @A B) Series, 491 C) Bypass, , :
21. In a circuit. the Voltmeter shall be connected in ---Uh gfdhe A diec 1 flex AN q ST g
§EUE D) none of these 378 I ®Ig e}

A) Parallel, ¥HMHIR  B) Series, a1 C) Bypass, )
22. ---Circuit converts AC supply into DC supply...dfdhe AC TS H1 DC s A uRaffd

HIA .
A) Transformer, TIBTHR B) Rectifier, ¥ BRAR - C) Inverter, ga¢X D) Motor, ma;
23. Working Clearance for 25 KV AC OHE is -, 25 KV AC OHE & e ST w89, R

D) 1.5mtr

A) Imtr  B)0.5mtr C)2 mtrs
24. A diode (p-n junction) when reverse biased act as, T SIS (p-n SIAIT) S ey

FOTS EArg
A.On Switch, f&¥ 3fF  B.Zener diode, R 8T8 C.Capacitor $UIRIEI

D.Off Switch, 31t &=
25. Doping in a semiconductor increases which quantity, 3fei=Teie # SIftT § fobg AT &

EIEA i |

A. Resistance, UfcR1Y B.Conductance, 9@ C.Inductance, W& D. None of

these, 399 Y &g g
26. What is the maximum speed of WAP-5, WAP-5 Tid! @ {femar 1fa & 2

A. 90 KMPH B.100 KMPH C.160 KMPH D. None of these, 398 ¥ &Is gl
27. What is the maximum speed of WAP-7, WAP-7 ANepl i HfAHaH T § 2

A. 90 KMPH B.140 KMPHy §Q7(16O KMPH D. None of these, 378 I &3 gl

28. Total number of Tappin‘g('ﬁ iE@%ain Transformer-, Uch H¥ TRIGTER # St &) St T3,
b. 21 c. 33 d. 35

a. 11 , . .
29. Which of the following Relays Trips the DJ in case of Over Current in the Main
Transformer-, 77 SRIBTFR # Sa¥ &ie &1 UMY § PR # 8 &1 0 Ral S 31 gy dr

&l §?

a. QRSI b. QLM c. QLA | d. QOP |
30. Efficiency of a Transformer should be (in percentage), T SRIP HR 1 agfar mfard /)
RRIELRY

d. 95-98

a 20-30 b.50-55 c.75-80 o
31. Which of the following is a Part of the Transformer-, fafifad o Q TR 316

d. Capacitor, SRR

Y
a. Core,®X b. SL . Motor, HIeY



%ﬁf R 6 aﬂ?f?%fs OVer which of the following principle-, SBER fHafifag &

a. OHMm
C. Fi%sljaw 3T B oy b. Pasca"SLaWﬁW' mug‘;aaﬂqs b
ay's Law of Electromagnetic Induction, BRTS &1 3N P 1 P
: None of the above, sﬁﬁ%ﬁs‘?ﬁ

33. Rating of 3 Transformer js in- SRR 1 3 gl &

a. KW p KWH c kva 6. KV TRIBTAR
34. The ChemiC.Q?I%SUbStance used in the breather of a Transformer is-, <  breather
Tar

& Water, UMl b, Salt 75 ¢ Silica Gel, fferamT St
b. d. Minera] Substance, WA garef
35. One Kilo watt= U fhef are=
a. 1000 watt b. 740 watt ¢ 100 watt  d. 500 watt
36. Bogie used in a WAP-7 Loco is-, WAP-7 Fﬁﬁﬁﬂﬂ&ﬁ@"ﬁ%— .
a. Bo-Bo b. Co-Co c. Ao-Ao d. None fthe above, Eq'ffﬁaﬂﬁ:l'eﬁ
37. Bogie used in a WAP-5 Loco is- WAP-5 ?ﬁﬁﬁﬂgﬁﬁ@"ﬂ% :
a. Co-Co b. Co-Co-Co c. Bo-Bo d. None of these, W@fﬁﬁqﬁ
38. Parking Brake is available in which Loco- Ui 3 foer it o Suersy @
a. WAG-7 b. WAP-5 ¢. WAG-5 d. WAP-4

39. Hotel Load converter is available in-, 3lcd dle g IUA §

a. WAP-5 b. WAG-9 c. WAP-4 d. WAG-7
40. A-9 handle is removed from which position-, A-9 §gd @ g R & gerr SIarg .

a. Run¥dF b. Neutral, ey c. FS d. None of these, mﬁﬁ'{?ﬁﬁ
41. Input voltage of SR is-, SR &J $YC dieeol 3-

a. 2180 Volt b. 1142 Volt ¢ 1000 Volt  d. 1269 VoIt
42. Input frequency of SR is- SR DI 3YC 3gfa &

a 40Hz b 45Hz ¢ 50Hz d. 65Hz
43. Number of traction motor of WAG-9H is- WAG-9H &1 ¢aeH Hiex o) T ?

a. 2 b. 4 c. 6

d. 8
44. Switch for Bogie isolation is- a1t STEHICRH & forg fyg g
a 152 b. 154 ¢ 160 d 237.1

45. Switch for vigilance isolation is-qddhdT AT P forg fg 8
a. 152 b 154 ¢ 2371 4 None of these FTH A B 78
46. OCB-2 is used to cool-, OCB-2 WW%@NS@T$Q£T ﬁ@?ﬂ%
a. Traction Motor, eaI- ey b. Machine Room A Fef
c. Scavenger Blower, ﬁEHTOT*ﬁGR’ d. SR-2 and Transformer oil, SR-2 3R 'g'l'ﬂtﬁlﬁ'{ G|
47. Weight of WAG-9H i$-....... WAG-9H &7 gof
a. 78 Ton b. 123 Ton c. 135Ton d. None of these, W@aﬁﬁ:ﬁﬁ
48. Transformer Rating of WAG-9 Loco is- WAG-9 ?ﬁﬁaﬁmﬁﬂ%
2 T415KVA b 8000KVA ¢ 6531 KV A d. None of these T78 J 1% 1Y
49. MCB of 3 Phage Loco Speedo Meter js- aH & At S Hiex #t MCB §
& 12792 b 12704 ¢ 12793 4 None of these, 378 J $YE 7}

°0. 1A schedule of WAG-9 is done in.. WAG-9 & 1A 3q0 b orr
a. 60Days b 120 days ¢ 90 days d. 180 Days

’31 EBI\%CB of Baby Compressor of Three Phase Loco is- @ el @it % o HUTR 7}

a. 47.1/1 b 481 ¢ 53.1 d. None ofthese,gqﬁ@faﬁ'sgqﬁ



. |PTMCB @
fSR-1 is- SR-1PT :
52. MCB 0 /| d. Noneof these FHIDIRTE
147.1 - h CCB-2?, CCB-2 d[d a'ﬁﬁkg%

/1 b. 127.1/2‘ c. L o wit
53 Wh:tli?the number of positions of A-9inal
T a %2 b. 4 c. 5 d. 6

O Lk dmium, didr
a. Hard drawn Copper, HOR mgﬁhﬁosé gg%qﬁ Faftmy
c. Copper, dIdl d. None o ) e s 3 A

f the above, 378 ¥ BIS gl
. ZBAN C. BLHO D. Noneo ' '
V3 o \ sub system., 58 3@ dip! H $5-01..94 Rren ¥ TR g

56. In 3@ loco, SS-01 belongs to ............ .
B. Traction bogie-2, ST -2

A. Traction bogie-1, Sa<- i1 -
i Yfdd D None of the above, B g aﬂﬁ '
T o poter 3 volts, loco will shut down 79 3¢ dihl 7 Tfe

Sl § e 1 AR B.....dlee bl a1 &1 oI
A .82 B. 87 C.90 D. 92
58. In 3 phase locos, when parking brakes are released, PB gauge shows

AIP] § 519 G1fdh1 S {3 1 8 Y B A fRaTar B..... Kg/em2 .
D. None of these, gﬂﬁ@fﬁ:{ﬁ

A5 B.0 C.6
59. during loco brake testing of WAG-9 or WAP-7, loco should not to move up to ... KN, WAG-9

& TIP] sicb U101 F SR T WAP-7 T B....KN e e oI a1
C. 300 D. 125

A. 100 B. 150
60. In 3@ loco, for charging of BP pressure ......... coc to be kept open, 3@ TId! H BP URR AT ®A

& foTT ...coc T GaT TGT ST,
D 47

A. A-8 B 70 C74
than loco MPS, emergency brake will

61. If speed of the train is increased more than ............
apply in 3@ loco. TG ¢ &I TIfd BT MPS 4..3% TGTE 1l & T 3¢ ApY A UGB F T

Kg/cm2, 3 =R

A.0.5% B. 5% C. 10% D. 50%
62. While working 3@ loco as banker, close ............ coc in pneumatic panel, 3¢ did] § §HT b &Y
A &9 X §A9 Jdlg 9 H...coc 9 BT ' '
A.70 B, 74 C.136 D. All the above, IUad Gaft

63. In three @ loco, SS-09 be“féf{ﬁgé“to ..................... sub system. 3@ W] H SS-09 BT Ty 8..37

JoTTet!
A. Battery system, §C<] YUITGIl  B. Brake system, 7 JUMR  C. Auxiliaries HB-1

D. None of these, 37H ¥ P13 gl
64. To reset VCD in WAP-5 loco, wait for ........... seconds. WAP-5 TI! # VCD & RAe &3 &
ferg... Garg da weten 3
A.0 B.160 C. 120 D. None of these, 378 § B1S =18}
RIEELLEISESICAR:

65. In 3 phase locos, Harmonic filter resistances are cooled by

ERAS ey ufaiel &.... &1 33T favar STl &,

A. Atmospheric air, aqu?;ﬁm Bdl B. Blower, &II3R

C. Pneumatic pressure, A4 G419 D. None of the above, 379 9 a’ﬂ‘vgﬂ‘@ﬁ
sub system. 3@ D! H $S-04 &7 ... HOMTCH!

66. In 3@ loco, $5-04 belongs to ...
B. Traction bogie-2 WN-Z

A. Traction bogie-1, EEQT'_‘I -1
C. Main power, etes| BIES D. Harmonic filter RAT® ftheex



A.OFF B.ON C. X
68.In 3@ loco, during selfii:!(?o'd mode @W? RIS HIS D. None of the above T Y Bl T8l
A OIS WS 3 ARE .. firme agode, %E;Tvdl remain in ON for ... Minutes. 3@ tid] #
A.15 B. 10 CHTZ% D, Wi . g
R agé%(é |;)§[0, toisolate panto No:1 keep panto sel'em)“r rs\;titsc\zlitr:h ot e G{qusﬁi% NIEZ
1 . WItCh in v .
n e ST D & fO1 50 Feiaell e o) a1 2.,
0. 1n 36 locos. VCD B. 1 ‘ C. D. None of these, 370 § &3 g ’
- Ental ) Is required to acknowledge once in every ......... seconds. 3@ A& H vCD &1
------ H T SR WBR 3] 1 .
A.8 B. 60 C. 68 D. None of these, 37[1:‘[ q Eﬁfé:ﬁﬂ
w;l% Location of Harmonic filter resistances in 3@ loco is ...3@ T # gRAIS fheet ufcRie &1
A. Loco roof , i1 &d  B. Inside FB, FB & 3¢ C. Machine room No-2 , AZiF &HRT T 2
D. By the side of pneumatic panel, qradig 9d & fh
72.In 3@ loco, Status code ‘00’ means...3@ AIH! H W HIS ‘00’ BT 31 §
A. Major Fault in loco, T & a?ﬁm B. No fault and No sub system isolated aﬂ%@mﬂ
TEﬁ WWWWW HA :i?f % C. Minor faultin loco, RIEAK: W@W '%' D. none of these
FRCEREIEE

73. In 3@ loco, Machine room blowers & their scavenging blowers works in ...Mode(s). 3@ GIcIK:

A. Driving mode only, W;ﬂsﬁﬂ% B. Cooling mode onlymfﬁlﬂ%

C.off 3%  D. Driving mode & Cooling mode. 31'5’@11 e WW%
74. Three phase loco is having ...number of auxiliary converter(s). 3@ ! T WEad Hl-ack o

Al B.2 C.3 D.4
75. In 3@ loco, when harmonic filter is isolated, speed of the train is restricted to ...... 3¢ |1 §

9§ BRI fhee” 7 S [ 1T & o1 ¢ &1 i Riffd g ol &

A.60 Kmph. B.40Kmph.  C.25Kmph. D.No such restriction , UHI ®ls Ufae=l 78! &
76. In 3@ loco, to switch on flasher light .................. switch to be operated. 3@ AP § RIRR d1ee
I R 2. W fopaT
A. AFL B. BPFL C. BLFL D. BPVG
77. In 3@ loco before operating throttle, ensure ............ node information on screen. 3@ NIGIR:]
Yied I ¥ U8d B 1F WR..... A8 BRI FAEd B ‘ ‘
A.FLG-504  B.FLG-550  C.FLG-590 D. None of these, 310 ¥ &3 g1
78.In 3@ loco, S5-03 belongs to ....ccvvercvineiencivininies sub system. 3@ b H R”IH W $S-03 &l
.37 Jorredt
A. Traction bogie-1, S qril-1 B. Traction bogie-2 , CaRIM arfl-2
C. Main power, J%7 Qfdd D. Harmonic filter, gRATE fheeX
79. In 3@ loco, for application of parking brakes speed should be below............... 3¢ Al H BIER)
# 9 T & forg afd g g1t =fee
A. 5 Kmph B. 15 Kmph C. 1.5 Kmph D. Zero Kmph
80. In 3@ loco, location of Fire detection unit (FDU) is ......veveenee. 3¢ W] B R fSeaed i
(FDU) BT ™M §.....
A SB-1 B SB-2 CHB-2 D Panel C y
81. 3@ loco is having .......... number of battery boxes. 3¢ T ... T8 # §ei T g
A.2 B.4 C.6 D. 32

82. Parking brake is provided in ..........cccorvvvenne. wheels in WAG-9 loco. g7 g Ua GGl

... WAG-9loco ¥ . .
A1,4,588 B.2,6,78&11 C.2&11 D None of these, 318 9 315 el



83. Total number of loco brake cylinders in WAP-4 loco is ...... WAP-4 dib! A Tl 5% Riciex @1
3l G Bl 8

‘ A6 B.12 C.4 D. None of these 3?73[ g aﬂ'if :f_Eﬁ
84. To avoid loco wheel skidding, ............. to be pressed while applying A9, ! CNRZAISUE]
T4 & ol A-0 T ..., 39T T1fRT
A. PSA B. PVEF C. Z2QwWcC D. BPSW

85. In conventional locos, CP Individual safety valve setting is ............ kg/ cm2. URIR® dlt H cp
SR YRET AT WfT..... kg/ cm?2

A.8 B.11.5 C 11 D. None of these, 379 @ @13 o]
86. MU2B is having ................ No. of positions., MU2B ff? ...... yql &1 T@
A1l B.2 C.3 D.4
87. Controlling fuse for SMGR control circuit is ........... , SMGR fdan Wi & %E’ GLEL LCl ?
A. CCPT B. CCA C. CCBA D. CCDJ

88. While operating GR manually GR shall be rotated within ........ seconds.GR & AHa®q g
I R TG GR P... s B YR gy o,
C.5

A.0.5 B. 0.6 D. None of above

89. Whenever DI is tripped on notches GR comes to zeroby......... relay. 57§ 4 DJ @1 79 W f?q
(a5 ST 8 & GR...... R gRT 0 W a1 ey 2 ,

A.Q52 B. Q51 C. Q46 D. Q50
: - 90.In conventional locos, auxiliary controlling relayis.......... , RGN @t 7 e 570 e
A.Q118 B. Q49 C. Q119 D. Q100
91. ....... relay is as called auto regression relay.,....RT @I 3fict R e &Y oIl &
A. Q52 B.Q51 C. Q50 D. Q48
92. The minimum battery voltage required to energise conventional AC loco s .......... Volts,
TR AC P! Bl AT T & 1T SN e Qe dleder... diee &
A.50 B. 90 C. 110 D. None of these, 370 § B3 e
93. When BPSW is pressed............. valve energizes, 51§ BPSW ST SITdT B....d7cd 19 EEIGES
A. PR1 B. Mv4 C. PR2 D. None of these, 378 § B3 gl

94. Length of the conventional type of Neutral section is
TR &l TH4Ts..... fleT g1t &
A. 42 B. 45 C41 D. 48

95. The zig-zag arrangement of contact wire is called as ... HUd R &1 forT S gy .. gl
EIGI

........... meters, TRIRD YHR & Jga

A. Auto tension, 3] 19 B. Regulating, BRICED
C. Un-regulating, R fafaga D. Staggering JhT & §Tell ,
96. How many countries touches the boundary of India? fad™ & R B! HHT B f{a?
A5 B C.7 D.None of these, §70 ¥ @3 TgI
97. The Indus Water Treaty was signed between India and . HRA 3. & &9 ﬁT'E{ el
i W g g U

A) Afghanistan, ST B) Bangladesh STTllGRI  C) Pakistan UIfdRdH D) China 911
98. ECR headquarter is located at.. ECR TRaITerq fRYd &

A.Hajipur Blﬁﬂgl B.Patna TcH C.Danapur QIHIYR D.Noneofthesem@aﬂ'{

99. Inductor does not allow the sudden change of, IR 3A® GRT P Wﬁ el &l ,
a. current, HIC b, voltage, A . power, T&T d. None of the above, 379 4 I3 el



a. Current, 3¢ b. volt o DRI S e ST e e
’ age, al@\ﬂ - '
101. 'Y ey DY HRyy ST R © Power, W& d. none of the above, 311 4 B3 e
D, 17 [i}ﬁm T
.16 Riqr w15 (e

14 BFae
102. Wmﬂm AT & gopy LT PN o)
AR @ |
SRS ol ST T

Y 80 oG gHTE

. 3gYE 120
TSIV 119 o, AT 121
104, 3O TGN ¥ B & Ry wmyr wiftrer 3
EEREIC . R
T oY o, Il
105. e ﬁmw#ﬁ,maﬁvqﬂﬁgﬁmﬂnﬁmﬁﬁ@ up
T—
&, FT 1995 9. 9 1993
T ET 1994 o, T 1992
106. AR BT HiGLTH Yol w9 & B9 W] a1 on—
P 15 W 1947 @ 25 SN 1950
70, 26 STANT 1950 ¥, 15 3N 1950
107, FHETG RISTHTST G UM 69 Tfed @1 Ty ofi—
F. T 1950 g g9 1957
T Eq 1951 H. N 1980

106 T B T R § Rt T 3 R B forg B Ry T 2

@, YT 351 . DT 349

T 3BT 350 € 30T 348
109, Qe @1 el gl 7 el b g Wi 2

& 19 @ 20

7. 21 22

110. &= & 92T & gaRemr @ foro el worsm wfify @ wa R Stk
ERRIRICIE-

D, 1 4.2
T 3 Y 4



107

108

109
110

92
93

94
95
96
97

98
99
100

58
59

60
61
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68
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67
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73
74
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28
29
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31

32
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35
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37
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